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3— (1) ZBRLBEDOFTHEDRELL

(ppm)
HET# 4 BITE D FRi& Hhig FR28EE | FR29FEE | FRB0EE | SHTEE SH2EE
Bl fF IR E3 0.003 0.003 0.003 0.002 0.002
dhiEh FERETS * 0.002 0.002 0.002 0.002 0.002
BET™ FHERIR L/ E3 0.002 0.002 0.002 0.002 0.002
e B EED % 0.002 0.002 0.002 0.002 0.002
vl x 0.003 0.003 0.003 — —
EI#¥FmH ¥ & 5] 0.004 0.003 0.003 0.003 0.002
EARM&AR E3 0.003 0.003 0.002 0.002 0.002
EART BILINER % 0.003 0.003 0.003 0.003 0.003
BR /N AR E3 0.004 0.003 0.003 0.004 0.003
BHRAHH |ZEERERR % 0.003 0.003 0.002 0.002 0.002
B 7 R EED ZDith 0.002 0.003 0.003 0.003 0.002
e ERSEEKR * 0.002 0.003 0.002 0.002 0.002
B H &7 B HETERE E3 0.003 0.003 0.003 0.003 0.002
3—(2)—EILERDEFHEDREELIL
(ppm)
THHET# £ BIE B FR & Hh i3 FRR28EE | FR29EE | FER0EE | SHTEE SH2ERE
Al fF B IR % 0.002 0.002 0.002 0.002 0.001
i FERETS * 0.002 0.002 0.002 0.002 0.002
=):: FAER IR L /S * 0.004 0.003 0.002 0.003 0.002
2=l FER IR L/ * 0.002 0.002 0.002 0.002 0.002
EI#¥FmH ¥ & 5] 0.002 0.002 0.003 0.003 0.002
EARM&AR * 0.005 0.005 0.006 0.006 0.004
EART BILINEER * 0.006 0.007 0.005 0.005 0.005
BR /N AR * 0.007 0.007 0.007 0.009 0.007
BRAHH |ZEERERR £ 0.003 0.002 0.002 0.002 0.001
B 7 R EED ZDith 0.002 0.002 0.002 0.002 0.002
e ERSEFK % 0.002 0.002 0.001 0.002 0.002
B H &7 B HETERE * 0.003 0.004 0.003 0.003 0.003
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3—(B) HILERDFEHENDRFLEIL

(ppm)
HHET#T 4 BIE R FH& ithig TRi28FEE | TRi29FE | FR0EFEE | fHnEE SI2EE

Al AFTH FILPER (£ 0.007 0.007 0.007 0.006 0.006
hiEm hRRETE (£ 0.007 0.006 0.006 0.005 0.005
HHE A IRED (£ 0.006 0.006 0.006 0.005 0.004
f&{am F M IRE S (£ 0.006 0.006 0.005 0.005 0.004
EI#Fmh EI#Fmi& P [i4] 0.007 0.005 0.006 0.006 0.006
EARM&AT (£ 0.011 0.011 0.010 0.011 0.010

EART FiL/hER (£ 0.009 0.011 0.008 0.009 0.009
ERfEINERR (£ 0.009 0.010 0.009 0.007 0.009

BRXEM |SEERER (£ 0.006 0.004 0.004 0.004 0.004
HB#Hhm MR ZDith 0.005 0.005 0.004 0.004 0.004
E®RmH ERESFFK (£ 0.005 0.005 0.005 0.005 0.004
B HET HEETER (£ 0.009 0.008 0.008 0.007 0.007

3—(4) ZBILERDEMO8%EDRELEIL
(ppm)
HHET#T 4 BIER FH& ithig TRi28FEE | TRi29FE | FRB0EE | fHnEE SI2EE

Al AFTH FILPER (£ 0.018 0.014 0.014 0.017 0.015
hiEm hRRETE (£ 0.014 0.015 0.012 0.013 0.013
HHE A IRED (£ 0.013 0.013 0.012 0.011 0.010
f&fam F M IRES (£ 0.011 0.012 0.011 0.011 0.009
EI#Fmh EI#Fmi& P [i4] 0.012 0.012 0.013 0.011 0.012
EARM&AT (£ 0.022 0.023 0.022 0.023 0.020

EART FiL/hER (£ 0.021 0.025 0.023 0.021 0.023
B fEINERR (£ 0.022 0.024 0.026 0.022 0.020

BRXEM |SEERER (£ 0.016 0.010 0.009 0.007 0.009
==kl MR ZDih 0.011 0.011 0.010 0.010 0.011
E®RmH ERESFFK (£ 0.011 0.011 0.009 0.013 0.010
B HET HHEETER (£ 0.021 0.022 0.019 0.019 0.017
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3—(B)FERFIRMEDFEFHEDRERELI
(mg/m®)
B4 % BIE B FA & th i FR28EE | FR29FE | FHB0EE | SHMEE SH2EE

Rl FF FH LR E3 0.017 0.016 0.015 0.012 0.011
g FERETS % 0.020 0.018 0.018 0.017 0.018
HHEH FEER RS * 0.013 0.017 0.020 0.017 0.016
Eath I ER IR LS % 0.015 0.014 0.014 0.012 0.013
E#Fh &R 5] 0.018 0.017 0.015 0.012 0.013
FEARTEA * 0.018 0.017 0.017 0.014 0.015

EART HIT/IVER * 0.017 0.017 0.017 0.017 0.016
BR /N % 0.018 0.017 0.012 0.017 0.019

e PN ] LR R * 0.016 0.016 0.015 0.013 0.014
== Riikic] E 7 (R E BT ZDith 0.019 0.016 0.014 0.012 0.011
EEX EREREFEFR E3 0.021 0.017 0.014 0.012 0.011
B 5 T B BT E R % 0.019 0.020 0.019 0.016 0.016
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3—(B)RIEFZAFLIUEORE1HEEOETEDEELL

(ppm)
B4 % BIE B FA & th i FR28EE | FR29FE | FRB0EE | SHMEE SH2EE

Rl FF FH LR E3 0.038 0.042 0.042 0.036 0.036
g FERETS % 0.036 0.041 0.040 0.037 0.037
HHEH FEEM IR S E3 0.031 0.033 0.031 0.030 0.032
Eath I ER IR LD % 0.034 0.032 0.032 0.031 0.032
E#Fh &R 5] 0.036 0.040 0.035 0.031 0.032
EART EARTRA % 0.028 0.033 0.035 0.031 0.029
L% K™ LR R * 0.038 0.040 0.033 0.031 0.034
== Riikic] E 7 (R E BT ZDith 0.035 0.038 0.040 0.036 0.037
EEX] EREREFEFR E3 0.042 0.043 0.044 0.043 0.036
B T B BT E R % 0.037 0.037 0.036 0.035 0.037

3— (T HALFEAFIE D BRRE D 1KFEEA0.1200mZE B X - HBDREF LI

(ppm)

B4 % BIE H FA & th 15 FR28EE | FR29FE | FHB0EE | SHMEE SH2EE

Rl FF FH LR 1 0 0 0 0 0
g FERETS % 0 0 0 2 0
HHEH FEER RS * 0 0 0 0 0
Eath EEE D) % 0 0 0 0 0
E#Fh &R 5] 0 0 0 0 0
EART EART&A % 0 0 0 0 0
L% K™ LR R 1 0 0 0 1 0
== Riikic] E 7 (R EE BT ZDith 0 0 0 1 0
EEX] EREREFEFR 1 0 0 0 0 0
B T B BT E R % 0 0 0 0 0




